Lens Unit User's Manual
Model NP50ZL

Mode d'emploi de I'objectif
Modeéle NP50ZL

Bedienungshandbuch fiir das Objektiv
Modell NP50ZL

Manual del usuario del objetivo
Modelo NP50ZL

J0Y199-RALY X BRiREHAE
8 NP50ZL

ZRHESL AP F i
&S NP50ZL

NEC

English

Francais

Deutsch

Espanol

LA

A#E

8 & HR 3 m




English

Disposing of your used product

it

In the European Union

EU-wide legislation as implemented in each Member State requires that used
electrical and electronic products carrying the mark (left) must be disposed of
separately from normal household waste. This includes the projector or electrical
accessory, such as a power cord. When you dispose of such products, please follow
the guidance of your local authority and/or ask the shop where you purchased the
product.

After collecting the used products, they are reused and recycled in a proper way.
This effort will help us reduce the wastes as well as the negative impact to the
human health and the environment at the minimum level.

The mark on the electrical and electronic products only applies to the current
European Union Member States.

Outside the European Union

If you wish to dispose of used electrical and electronic products outside the Euro-
pean union, please contact your local authority and ask for the correct method of
disposal.

Francais

Mise au rebut du produit usagé

it

Dans I'Union européenne

La législation européenne, appliquée dans tous les Etats membres, exige que les
produits électriques et électroniques portant la marque (a gauche) doivent étre
mis au rebut séparément des autres ordures ménageéres. Ceci inclut le projecteur
ou les autres accessoires électriques, tels que le cordon d'alimentation. Lorsque
vous mettez au rebut ces produits, veuillez suivre les recommandations des au-
torités locales et/ou demander conseil au magasin qui vous a vendu le produit.
Une fois ces produits mis au rebut, ils sont réutilisés et recyclés de maniére ap-
propriée. Cet effort nous aidera a réduire au niveau minimum les déchets et leurs
conséquences négatives sur la santé humaine et I'environnement.

La marque figurant sur les produits électriques et électroniques ne s'applique
qu'aux Etats membres actuels de I'Union Européenne.

En dehors de I'Union européenne

Si vous souhaitez éliminer des produits électriques et électroniques usagés en de-
hors de I'Union européenne, veuillez contacter votre autorité locale et demander
la méthode d'élimination appropriée.




Deutsch

Entsorgung des gebrauchten Gerits

it

In der Europdischen Union

Die EU-weite Gesetzgebung, wie sie in jedem einzelnen Mitgliedstaat gilt, bes-
timmt, dass gebrauchte elektrische und elektronische Gerate, die die Markierung
(links) tragen, getrennt vom normalen Haushaltsabfall entsorgt werden miissen.
Dazu gehoren auch der Projektor und sein elektrisches Zubehor, wie z. B. das
Netzkabel. Folgen Sie bei der Entsorgung eines solchen Geréts den Anweisungen
Ihrer 6rtlichen Behdrde und/oder wenden Sie sich an den Handler, bei dem Sie
das Gerdt erworben haben.

Nach der Abgabe der gebrauchten Gerate werden diese wiederverwendet und
entsprechend den Umweltbestimmungen recycelt. Dies tragt dazu bei, die Abfall-
mengen zu reduzieren sowie die negativen Auswirkungen auf die menschliche
Gesundheit und die Umwelt moglichst gering zu halten.

Die Markierung auf elektrischen und elektronischen Gerdten gilt nur fiir die ge-
genwartigen Mitgliedstaaten der Europdischen Union.

AuBerhalb der Europdischen Union

Wenn Sie gebrauchte elektrische und elektronische Gerate auf3erhalb der Eu-
ropdischen Union entsorgen mdchten, wenden Sie sich an Ihre ortliche Behérde
und fragen Sie nach der ordnungsgemafBen Entsorgungsmethode.

Espaiiol

Como deshacerse del producto utilizado

it

En la Unién Europea

La legislacion de la UE puesta en practica en cada Estado miembro requiere que
los productos eléctricos y electronicos que lleven la marca (izquierda) se deben
desechar por separado de la basura normal. Esto incluye el proyector o los acce-
sorios eléctricos, como por ejemplo un cable de alimentacién. Cuando se deshaga
de tales productos, siga los consejos de su autoridad local y/o pregunte en la
tienda en la que adquirio el producto.

Después de recoger los productos utilizados, estos se reutilizan y reciclan de la
forma adecuada. Dicho esfuerzo ayuda a reducir a un nivel minimo la cantidad de
desechos asi como el impacto negativo sobre la salud humana y el medioambi-
ente.

La marca en los productos eléctricos y electrénicos se aplica solo a los actuales
Estados miembro de la Unién Europea.

Fuera de la Unién Europea

Si desea desechar los productos eléctricos y electrénicos usados fuera de la Unidn
Europea, contacte con sus autoridades locales y pregunte por el método correcto
de eliminacion.




BEEZEICDULT
FUBERZETDEE. BEVDITORTE. FFEBFCSEVEDE LT,

XFFFmaILE
BIRYE = A MR E IR o



Lens Unit User's Manual Model NP50ZL

Introduction

This is the User’s Manual for the NP50ZL zoom lens.

This manual explains the precautions for handling the lens unit and how to install and adjust the
support kit (The piece creating by combining the lens holder, lens attachment, and support base).

/\ WARNING

For moving the projector, make sure you have at least two people. Attempting to move the
projector alone could result in back pain or other injuries.

When installing the lens unit, be sure to secure it to the projector using the support kit. Failure
to do so could cause the lens unit to fall, resulting in injury.

Power off the projector and unplug the power cord before installing the lens unit and the
support kit.

NOTE:
« The drawings in this manual may differ slightly from the actual products.

Cautions on handling the lens units

Do not give a shock or excessive load to the projector or the lens components as the projector
and lens components contain precision parts.

Do not move the projector with the lens unit mounted on it. Be sure to remove the lens unit
beforehand.

Subjecting the projector to shocks when moving could damage the lens unit or lens shift mech-
anism.

Before removing or installing the lens, be sure to turn off the projector, wait until the cooling fans
stop, and unplug the power cord.

During operation, DO NOT touch the lens surface, the focus/zoom motor or the gears.

Be very careful not to let dirt or oil get on the lens surface and not to scratch the lens surface.
To avoid the risk of the lens unit dropping, do not perform operations in high places. Perform
operations on a flat surface.

When leaving the lens unit off for long periods of time, mount the dust-prevention cap on the
projector to prevent dust or dirt from getting inside.

When mounting the lens unit on the projector, be sure to remove the lens cap from the side to
be mounting. Leaving the lens cap on could damage the projector.

Always make sure to attach the front and rear lens caps after removing the lens unit. Otherwise
the lens could become damaged, even if the caps are left unattached for a short period of time.
Never stand the lens unit on its end without the lens caps attached.

Store the removed lens cap in a safe place.

EN-1




Contents (workflow)

1. Preparation (See next page)

1-1. Check the model name of the projector

1-2. Check the included items

1-3. Prepare a Phillips head screwdriver and ball end hexagon screwdriver
1-4. Calibrate the projector lens

o

2. Installation (See page EN-5)

2-1. Attach the lens attachment to the lens unit

3. Adjustment (See page EN-9)

3-1. Lens shift 3-2.Zoom 3-3. Focus
(position of the projected image)

EN-2




1. Preparation

1-1. Check the model name of the projector
This lens unit is compatible with the following projectors.

This manual will describe installation using the NP-PA1004UL-W series. Part of the process will differ
with the NP-PV800UL-W series.

NP-PA1004UL-W series

NP-PV800UL-W series

1-2. Check the included items

@ Lens unit: 1 pc
Support kit
@ Lens holder 1 pc
@ Lens attachment 1 pc
@ Support base 1 pc
Parts A
(® Bolt (M4 x 10) 10 pcs
(® Bolt (M4 x 30) 4 pcs
@ Screw (M3 x 6) 4 pcs
(® Washer 4 pcs
® Nut 4 pcs
Parts B
(0 SEMS screw 4 pcs
@D Support post 4 pcs
Parts C
@@ Screw (M4 x 20) 4 pcs
@3 Collar 4 pcs
(4 Rubber cushion 1 pc
Tool
@ Wrench 1 pc
Handling Instructions
(This document): 1 pc

Parts B and tool: Not to use.

Parts C: Used only with models NP-PV800UL-W series.

EN-3




1-3. Prepare a Phillips head screwdriver and ball end hexagon
screwdriver

« Phillips head screwdriver, ball end hexagon screwdriver (3 mm), wrench (7 mm)
- For ceiling mount or portrait position, a mounting bracket with sufficient strength to support the
combined weight of the projector, the lens unit, and the support kit.

1-4. Calibrate the projector lens

Return the projector lens position to the home position without the lens mounted.
For details on connecting the power cord and turning on/off, refer to the projector User’s Manual.

1. Connect the power cord to the projector, and then press the (POWER) button to turn on
the power.

2. Press and hold the ZOOM/L-CALIB button for 2 seconds or longer.

3. After the lens movement is finished, press and hold the SHIFT/HOME POSITION button
for 2 seconds or longer.

4. After the lens movement is finished, wait for 10 seconds or more and then press the
(POWER) button twice to turn off the power to the projector.

5. Remove the power cord from the projector.

Reference:
Operation buttons on the projector unit (long press)

NP-PA1004UL-W series

1
@ (son) — 3. SHIFT/HOME POSITION button

«L-CALIB\ = HOME

(&
olio]

—— 2.ZOOM/L-CALIB. button

NP-PV800UL-W series

2

__— 2.Z00M/L-CALIB. button
(D@ )

)

((SHIFF }———— 3. SHIFT/HOME POSITION button

=L-CALIB. =HOME
POSITION @

-




2. Installation

2-1. Attach the lens attachment to the lens unit

1. Install the lens attachment on the lens unit.

Attach the lens attachment as shown in the
figure, align the 4 screws holes with those on the
lens unit, and fasten using the 4 (M3 X 6) screws.

2-2, Assemble the lens holder and attach it to the projector

1. Attach the support base to the lens holder.

Align the 6 screws holes on the support base
with those on the lens holder and fasten using
the 6 (M4 x 10) bolts.

¥ %

2. Turn over the projector.

Lay down the projector cabinet upside down
on a table with soft cloth laid.

/\ cauTioN

« For moving the projector, make sure you
have at least two people. Attempting to
move the projector alone could result in
back pain or other injuries.

EN-5



Do the following for NP-PV800UL-W series.

* These steps are not required when attaching the ceiling mount.

() Extend the tilt feet
Rotate the tilt feet to extend them approximately 10 mm.

(@ Attach the rubber cushion
Remove the cover from the double-sided tape on the rubber cushion, and attach the tape
to the protruding section on the unit.

-
(-

3. Attach the Lens holder to the projector.

Place the Lens holder assembled in step 1 on
the projector as shown in the figure, align the
4 screws holes with those on the projector, and
fasten using the 4 (M4 x 10) bolts.

Do the following when using the ceiling mount

with models NP-PV800UL-W series.

(@ Place the collars on top of the unit’s ceiling
mount screw holes.

(@ Align the holes in the collars with the ceil-
ing mount screw holes.

(® Secure with four (4) screws (M4 x 20).

Collar

EN-6



4. Return the projector to its original orienta-
tion.

/\ cauTion

« For moving the projector, make sure you
have at least two people. Attempting to
move the projector alone could result in
back pain or other injuries.

2-3. Mount the lens unit on the projector

* Make sure to remove the lens cap at the unit back
side. If the lens unit with the lens cap remaining on is
installed on the projector, it may cause of malfunction.

1. Mount the lens unit on the projector

1. Insert the lens onto the projector facing the
arrow on the lens-label upward.

Insert the lens slowly all the way in.

2. Turn the lens clockwise.
Turn until a click is heard.
The lens is now fastened onto the projector.

Protrusion

EN-7




2. Fix the lens attachment to the lens
holder.

Pass 4 bolts (M4 x 30) with washer and
nut through the holes on the face of the
lens attachment to tighten them to the
lens holder.

o A ...--.... ...... W
] 8
s»

i

They are called “the adjustment bolts".

When doing so, ensure that the wash-

ers are pressed lightly against the lens Space (approx. 10 mm)
attachment and leave approximately i
10 mm of space between the nut and Washer - Nut

the lens holder.

Adjustment Lens holder
bolt

Side view

NOTE:

« The lens holder has 8 screw holes.
Use screw holes A for NP-PA1004UL-W series.
Use screw holes B for NP-PV800UL-W series.

Screw holes A Screw holes B

This completes mounting the support kit.
Set up the projector and connect the power cable and video cables. Then remove the front lens
cap, turn on the projector, and adjust each setting.

EN-8



3. Adjustment

- Seethe projector’sinstallation manual for detailed operations and precautions on such functions
as lens shifting, zooming, focusing, test patterns and adjustment of the distortion and image
quality.

- To adjust the peripheral focus, turn the four (4) adjustment bolts that were tightened at “2-3.
Mount the lens unit on the projector”. (— See next page)

Adjustment bolt

3-1. Lens shift (the position of the projected image)
Adjust the position of the projection screen.
1. Press the SHIFT/HOME POSITION button.
+ Press the SHIFT button on the remote control.
2. Pressthe VA <€) buttons to move the projected image.
NOTE:
« Loosen the 4 adjustment bolts and nuts when shift-

ing the lens after tightening the adjustment bolts
following a focus adjustment.

3-2.Zoom
Adjusts the size of the projection screen.
1. Press ZOOM/L-CALIB. button.
+ Press the ZOOM button on the remote control.
2. Press 4p buttons to adjust zoom.

EN-9



3-3. Focus

Adjust the focus of the projected image.

- Projecting a test pattern will help adjust the focus.

- Alternate between adjusting the center and the periphery of the screen until the entire image
achieves a good balance.

The focus of the center of the screen

/

N T/ N
The focus of the screen €+' ) /. \ ) The focus of the screen
. —imy /4 1l FEEt .
periphery \ ot / C = / periphery
/. TN \
/A \
/i \
¢ i
g
\ g > /
& H+E3- I
=) (&%
\L | | | 0 N i,

1. Adjust the center focus.
1. Press the FOCUS button.
2. Press the € » buttons to align the center focus.

If the image does not focus, place the focus position as close to the screen as possible and
move the focus to either the minimum or maximum setting.

2. Adjust the peripheral focus.
Use the four (4) adjustment bolts to adjust the screen’s periphery.
. Ifthe projector is on a table or the floor, focus by tightening adjustment bolts @ and ®.
If it is installed on the ceiling, focus by tightening adjustment bolts © and ©.
Floor placement Ceiling mounting

B) o
<@

+ If projecting an image from the ceiling to the floor or vice versa (projecting vertically), focus
by tightening all adjustment bolts ®, B), ©, and ©.

EN-10



1. Turnadjustment bolt @ (or ©) by 1/4 turn intervals according to the above mounting position.
Adjust the peripheral focus on the left side of the screen.

2. Next, turn adjustment bolt ® (or ©) by 1/4 turn intervals.
Adjust the peripheral focus on the right side of the screen.

Reference:

- If there is a significant imbalance between the left and right positions of the focused plane,
significantly tighten the adjustment bolt of the side with the focused position furthest away
from the screen (left-side image).

[ Screen The focused plane [ Screen
: L :
\ Screen \
I The focused plane

Loosen

Tightening the adjustment Loosen the adjustment bolt Gradually tighten and loosen

bolt moves the focused plane : if the focused plane extends : the leftand right adjustment

away from the projector. i beyond the screen. ¢ bolts to align the focused
: i plane with the screen.

3. Balance the left and right peripheral focus with the center focus.
Repeat steps 1 and 2 until the entire screen reaches optimal focus.

"

B
g
B

Center focus adjustment

T
)

]

]
' |

A .

y
L)
o
|
]

)

D G i e
Left side focus adjustment Right side focus adjustment

EN-11



4. Secure the adjustment bolts.

Once the position of the adjustment bolts in step 3 is set, tighten the nuts until the washers
touch the lens attachment.

This will secure the four (4) adjustment bolts to the lens attachment.

Tighten the nut.

Lens attachment

—

This completes adjustment of the position, size, and focus of the projected image.

Reference:
« Use the following process to remove the lens unit from the projector.
1. Attach the lens cap.
2. Remove the four (4) adjustment bolts
3. Turn on the projector and display an image.
4. Press and hold the SHIFT/HOME POSITION button over 2 seconds.
The lens position will be moved to the home position.
5. Turn off the main power switch, and then unplug the power cord.
Wait until the projector cabinet is cool enough to handle.
6. While pressing the lens release button at the bottom of lens mounting section on the pro-
jector’s front panel fully in, turn the lens counterclockwise.
The lens comes off.

EN-12



Mode d’emploi de l'objectif modele NP50ZL

Introduction

Il s'agit du mode d’emploi de l'objectif zoom NP50ZL.

Ce manuel explique les précautions a prendre pour manipuler I'objectif et comment installer et
régler le kit de support (La piece créée en combinant le porte-objectif, le connecteur d'objectif et
la base de support).

/\ AVERTISSEMENT

Pour déplacer le projecteur, assurez-vous d'avoir au moins deux personnes. Essayer de déplacer
le projecteur tout seul pourrait causer des douleurs au dos et d’autres blessures.

Lors de l'installation de l'objectif, assurez-vous de le fixer au projecteur a l'aide du kit de support.
Si vous ne le faites pas, 'objectif pourrait tomber et causer des blessures.

Eteignez le projecteur et débranchez le cordon d’alimentation avant d'installer l'objectif et le
kit de support.

REMARQUE:
« Lesillustrations de ce manuel peuvent différer [égérement des produits réels.

Précautions pour la manipulation de l'objectif

Ne soumettez pas le projecteur ou les composants de l'objectif a un choc ou a une charge exces-
sive, car ceux-ci contiennent des piéces de précision.

Ne déplacez pas le projecteur avec I'objectif monté dessus. Veillez a retirer l'objectif au préalable.
Si vous soumettez le projecteur a des chocs lors d'un déplacement, vous risquez d'endommager
l'objectif ou le mécanisme de déplacement de I'objectif.

Avant de retirer ou d'installer l'objectif, assurez-vous déteindre le projecteur, attendez que les
ventilateurs de refroidissement s'arrétent et débranchez le cordon d'alimentation.

Pendant le fonctionnement, NE touchez PAS la surface de l'objectif, le moteur de mise au point/
zoom ou les engrenages.

Soyez prudent afin de ne pas salir, graisser ou rayer la surface de l'objectif.

Pour éviter tout risque de chute de 'objectif, n'effectuez pas d'opérations en hauteur. Effectuez
les opérations sur une surface plane.

Sivous laissez l'objectif démonté du projecteur pendant de longues périodes, mettez le couvercle
sur le projecteur pour éviter que la poussiére ou saleté ne pénétre a l'intérieur.

Lors du montage de |'objectif sur le projecteur, veillez a retirer le capuchon de I'objectif du coté du
montage. Le fait de laisser le capuchon de I'objectif en place risque d'endommager le projecteur.
Veillez a toujours fixer les capuchons avant et arriére apres avoir retiré I'objectif. Sinon, I'objectif
risque d'étre endommagé, méme si les capuchons sont laissés sans fixation pendant une courte
période. Ne placez jamais l'objectif sur son extrémité sans que les capuchons de I'objectif ne
soient fixés.

Veuillez ranger le capuchon de I'objectif que vous avez retiré dans un endroit sdr.




Contenu (flux de travail)

1. Préparation (Voir page suivante)

1-1. Vérifiez le nom du modéle du projecteur
1-2. Vérifiez les éléments inclus
1-3. Préparez un tournevis cruciforme et un tournevis hexagonal a embout sphérique

1-4. Etalonnez l'objectif du projecteur

o

2. Installation (Voir page FR-5)
2-1. Fixez I'accessoire d'objectif a I'objectif

3. Réglage (Voir page FR-9)

3-1. Correction d’objectif 3-2.Zoom 3-3. Mise au point
(position de I'image projetée)

FR-2



1. Préparation

1-1. Vérifiez le nom du modéle du projecteur

Cet objectif est compatible avec les projecteurs suivants.
Ce manuel décrit I'installation en cas d'utilisation de la série NP-PA1004UL-W. Une partie du processus

différe avec la série NP-PV800UL-W.

Série NP-PA1004UL-W Série NP-PV800UL-W

1-2. Vérifiez les éléments inclus

(D Objectif : 1 pc
Kit de support
(@ Porte-objectif 1 pc
(® Fixation de I'objectif 1 pc
(@ Base de support 1 pc
Pieces A

(® Boulon (M4 x 10) 10 pcs

(® Boulon (M4 x 30) 4 pcs

@ Vis (M3 x 6) 4 pcs

Rondelle 4 pcs

@ Ecrou 4 pcs
Pieces B

10 Vis SEMS 4 pcs

@D Poste de support 4 pcs
Pieces C

@2 Vis (M4 x 20) 4 pcs

@3 Collier 4 pcs

( Coussin en caoutchouc 1 pc
Outil

(9 Clé 1 pc
(@ Instructions de manipulation

(ce document) : 1 pc

Piéces B et outil : Ne pas utiliser.
Piéces C: Utilisées uniquement avec les modéles de la série NP-PV800UL-W.

FR-3



1

-3. Préparez un tournevis cruciforme et un tournevis hexagonal a

embout sphérique

1

Tournevis cruciforme, tournevis hexagonal a bille (3 mm), clé (7 mm)
Pour le montage au plafond ou en position portrait, un support de montage suffisamment solide
pour supporter le poids combiné du projecteur, de l'objectif et du kit de support.

-4, Etalonnez l'objectif du projecteur

Ramenez la position de 'objectif du projecteur a sa position d'origine sans que l'objectif ne soit monté.
Pour plus de détails sur la connexion du cordon d'alimentation et la mise sous/hors tension, repor-
tez-vous au mode d'emploi du projecteur.

1.

Connectez le cordon d’alimentation au projecteur, puis appuyez sur le bouton (POWER)
pour mettre I'appareil sous tension.

Appuyez sur le bouton ZOOM/L-CALIB et maintenez-le enfoncé pendant au moins 2 sec-
ondes.

Une fois le mouvement de l'objectif terminé, appuyez sur le bouton SHIFT/HOME POSITION
et maintenez-le enfoncé pendant au moins 2 secondes.

Une fois le mouvement de l'objectif terminé, attendez 10 secondes ou plus, puis appuyez
deux fois sur le bouton (POWER) pour mettre le projecteur hors tension.

Retirez le cordon d’alimentation du projecteur.

Référence :
Boutons de commande sur le projecteur (appui long)

Série NP-PA1004UL-W

(oon) _ 3. Touche SHIFT/HOME POSITION
.\, = HOME

— 2.Touche ZOOM/L-CALIB.

Série NP-PV800UL-W

2

_— 2. Touche ZOOM/L-CALIB.
D@ )

@ ()

((sHiFT }———— 3.Touche SHIFT/HOME POSITION

=L-CALIB. =HOME
POSITION @

-




2. Installation

2-1. Fixez l'accessoire d’objectif a 'objectif

1. Installezla fixation de l'objectif sur l'objectif.

Fixez la fixation de l'objectif comme indiqué sur
la figure, alignez les 4 trous de vis avec ceux de
I'objectif et fixez-les a laide des 4 vis (M3 x 6).

2-2, Assemblez le porte-objectif et fixez-le au projecteur

1. Fixezla base de support au porte-objectif.
Alignez les 6 trous de vis de la base de support
avec ceux du porte-objectif et fixez-les a laide
des 6 boulons (M4 x 10).

1i

2. Retournez le projecteur.

Posez le boitier du projecteur a I'envers sur une
table avec un chiffon doux posé.

A ATTENTION

« Pour déplacer le projecteur, assurez-vous
d’avoir au moins deux personnes. Essayer
de déplacer le projecteur tout seul pourrait
causer des douleurs au dos et d'autres bles-
sures.

FR-5



Procédez comme suit pour la série NP-PV800UL-W.

* Ces étapes ne sont pas nécessaires lors de la fixation du montage au plafond.

@ Déployez le pied d'inclinaison
Faites pivoter les pieds d'inclinaison pour les déployer d'environ 10 mm.

(@ Fixez le coussin en caoutchouc
Retirez le couvercle du ruban adhésif double face sur le coussin en caoutchoug, et fixez le
ruban a la partie saillante de 'unité.

-
(o

3. Fixezle porte-objectif au projecteur.

Placez le porte-objectif assemblé a I'étape 1
sur le projecteur comme indiqué sur la figure,
alignez les 4 trous de vis avec ceux situés sur le
projecteur et fixez a I'aide des 4 boulons (M4
% 10).

Procédez comme suit en cas d'utilisation du

systéme de montage au plafond avec les

modeéles de la série NP-PV800UL-W.

(@ Placez les colliers sur les trous de vis de
fixation au plafond de I'appareil.

(@ Alignezles trous des colliers avec les trous
de vis de montage au plafond.

(® Fixez avec quatre (4) vis (M4 x 20).

Collier

FR-6



4. Remettezle projecteur dans son orientation
d’origine.

A ATTENTION

« Pour déplacer le projecteur, assurez-vous
d’avoir au moins deux personnes. Essayer
de déplacer le projecteur tout seul pourrait
causer des douleurs au dos et d'autres bles-
sures.

2-3. Installez l'objectif sur le projecteur

* Assurez-vous de retirer le capuchon de l'objectif a
I'arriere de I'appareil. Si I'objectif est installé sur le
projecteur avec le capuchon, cela peut provoquer un
dysfonctionnement.

1. Installez l'objectif sur le projecteur

1. Insérez l'objectif sur le projecteur face a la
fleche, avec I'étiquette de I'objectif orientée
vers le haut.

Insérez lentement 'objectif jusqu’au bout. \/

2. Tournez l'objectif dans le sens des aiguilles
d’une montre.

Tournezjusqu'a ce qu'un clic se fasse enten-
dre.

Lobjectif esta présent attaché au projecteur.

FR-7



2. Fixez la fixation de l'objectif sur le
porte-objectif.

Faites passer 4 boulons (M4 x 30) avec
rondelle et écrou a travers les trous sur
la face de la fixation de I'objectif pour les
serrer au support de l'objectif.

W

<
»
®

On les appelle les « boulons de réglage ».
Ce faisant, assurez-vous que les ron-

delles sont |égerement pressées contre Espace (environ 10 mm)
la fixation de l'objectif et laissez environ ot
10 mm d’espace entre I'écrou et le Rondelle - Ecrou

porte-objectif.

Boulon de Porte-objectif
réglage

Vue latérale

REMARQUE:

+ Le porte-objectif a 8 trous de vis.
Utilisez les trous de vis A pour la série NP-PAT004UL-W.
Utilisez les trous de vis B pour la série NP-PV800UL-W.

Trous de vis A Trous de vis B

Ceci termine le montage du kit de support.
Installez le projecteur et connectez le cable d’alimentation et les cables vidéo. Retirez ensuite le
capuchon avant, allumez le projecteur et ajustez chaque réglage.

FR-8



3. Réglage

+ Reportez-vous au manuel d'installation du projecteur pour connaitre les opérations détaillées et
les précautions a prendre lors de I'utilisation des fonctions telles que la correction d'objectif, le
zoom, la mise au point, les mires de test et le réglage de la distorsion et de la qualité de I'image.

« Pour régler la mise au point périphérique, tournez les quatre (4) boulons de réglage qui ont été
serrés a l'étape « 2-3. Installez 'objectif sur le projecteur ». (— Voir page suivante)

Boulon de réglage

3-1. Décalage d'objectif (la position de I'image projetée)
Ajustez la position de I'écran de projection.
1. Appuyez sur le bouton SHIFT/HOME POSITION.
« Appuyez sur la touche SHIFT de la télécommande.
2. Appuyezsurles boutons VA €4» pourdéplacer'image
projetée.
REMARQUE:
+ Desserrez les 4 boulons et écrous de réglage lorsque

vous déplacez |'objectif apres avoir serré les boulons
de réglage aprés un réglage de la mise au point.

3-2.Zoom
Ajuste la taille de I'écran de projection.
1. Appuyez sur le bouton ZOOM/L-CALIB.
+ Appuyez sur la touche ZOOM de la télécommande.
2. Appuyez sur les boutons 4P pour ajuster le zoom.

FR-9



3-3. Mise au point

Réglez la mise au point de I'image projetée.

« La projection d’une mire de test permet d'ajuster la mise au point.

« Alternez entre le réglage du centre et de la périphérie de I'écran jusqu’a ce que toute I'image
atteigne un bon équilibre.

La mise au point du centre de I'écran

/

N T/ N . .
La mise au point de la (o3 )) /. \ ) La mise au point de la
e 1 _+E+ V4 /] +EE+ PR i
périphérie de I'écran \ et / T / périphérie de I'écran
\
/ ZT TN \
/- \
/i \
+ B+
[s o |
BN+ ER /
\\ g » II
B 1+ E3- I
’+ \\ ( I+H=JE’
\NE = X e,

1. Réglez la mise au point du centre.
1. Appuyez sur la touche FOCUS.
2. Appuyezsur les touches € » pour aligner la mise au point du centre.

Sil'image demeure floue, placez la position de mise au point le plus prés possible de I'écran
et réglez la mise au point au minimum ou au maximum.

2. Réglez la mise au point périphérique.
Utilisez les quatre (4) boulons de réglage pour régler la périphérie de I'écran.
«  Sile projecteur est sur une table ou sur le sol, effectuez la mise au point en serrant les boulons

de réglage @ et ®.
S'il est installé au plafond, effectuez la mise au point en serrant les boulons de réglage ©
et®.

Emplacement au sol Installation au plafond

B) 0O

o NO)

2O

TC——U°

«  Sivous projetez une image du plafond sur le sol ou vice versa (projection verticale), effectuez
la mise au point en serrant tous les boulons de réglage ®, ®, © et ©.




1. Tournezle boulon de réglage ® (ou ©) d'un quart de tour a la fois en fonction de la position
de montage ci-dessus.

Réglez la mise au point périphérique du coté gauche de I'écran.
2. Ensuite, tournez le boulon de réglage ® (ou @) d’'un quart de tour 2 la fois.
Réglez la mise au point périphérique du coté droit de I'écran.

Référence :

» Sily a un déséquilibre important entre la gauche et la droite du plan de mise au point, serrez
de maniere significative le boulon de réglage situé du c6té ou se trouve la position mise au
point la plus éloignée de I'écran (image de gauche).

[ Ecran :

\

Le plan de mise au point

f Le plan de mise au point : f Ecran

\ Ecran \
Le plan de mise au point

A

Serrer plus { Serrer
T

Desserrer

Le serrage du boulon de Desserrez le boulon de Serrez et desserrez progres-
réglage éloigne le plan de i réglage si le plan de mise : sivement les boulons de
mise au point du projecteur. : au point sétend au-dela de : réglage de gauche et de
: I'écran. : droite pour aligner le plan
: i demise au pointaveclécran.

3. Equilibrez la mise au point périphérique gauche et droite avec la mise au point centrale.
Répétez les étapes 1 et 2 jusqu’a ce que la mise au point soit optimale sur tout I'écran.

=y
e
ez 3
e

Réglage de la mise au point
centrale

Tl
N

: < 3
>

)
et
=

T
|
)

e el o8 o |
(e ) ] Ela 55
Réglage de la mise au point du Réglage de la mise au point du
coté gauche coté droit

FR-11



4. Fixezles boulons de réglage.

Une fois la position des boulons de réglage de I'étape 3 réglée, serrez les écrous jusqu’a ce que
les rondelles touchent I'accessoire d'objectif.

Cela fixera les quatre (4) boulons de réglage a I'accessoire d'objectif.

Serrez I'écrou.

Connecteur d'objectif

—

Ceci termine le réglage de la position, de la taille et de la mise au point de I'image projetée.

Référence :
« Utilisez la procédure suivante pour retirer 'objectif du projecteur.

1. Mettez en place le capuchon d'objectif.

2. Retirez les quatre (4) boulons de réglage

3. Allumez le projecteur et affichez une image.

4. Appuyez sur la touche SHIFT/HOME POSITION et maintenez-la enfoncée pendant plus de
2 secondes.

L'objectif sera ramené a sa position d'origine.

5. Eteignez l'interrupteur d’alimentation principal, puis débranchez le cordon d’alimentation.
Attendez que le boitier du projecteur soit suffisamment froid pour le manipuler.

6. Tout en appuyant a fond sur le bouton de déverrouillage de l'objectif situé en bas de la
section de montage de l'objectif sur le panneau avant du projecteur, tournez l'objectif dans
le sens inverse des aiguilles d'une montre.

L'objectif va se détacher.

Tout en appuyant sur le bouton de déverrouillage de
l'objectif

FR-12



Bedienungshandbuch fiir das Objektiv Modell NP50ZL

Einleitung

Dies ist das Bedienungshandbuch fiir das Zoomobjektiv NP50ZL.

In diesem Handbuch werden die VorsichtsmaBnahmen fiir die Handhabung des Objektivs und
die Installation und Einstellung des Montage kit erlautert (Das Teil, das aus der Kombination der
Objektivhalterung, der Objektivbefestigung und dem Stiitzfu3 besteht).

AWARNUNG

Zum Transport des Projektors sind mindestens zwei Personen erforderlich. Wenn Sie versuchen,
den Projektor alleine zu transportieren, kdnnten Sie sich am Riicken verletzen oder andere Ver-
letzungen erleiden.

Wenn Sie das Objektiv angebracht haben, mussen Sie es mit dem Montage kit am Projektor
sichern. Andernfalls kann das Objektiv herunterfallen und zu einer Verletzung fiihren.
Schalten Sie den Projektor aus und ziehen Sie das Netzkabel ab, bevor Sie das Objektiv und den
Montage kit installieren.

HINWEIS:
« Die in diesem Handbuch gezeigten Abbildungen kénnen leicht von den tatsachlichen Pro-

dukten abweichen.

VorsichtsmaBnahmen beim Umgang mit den Objektiven

Setzen Sie den Projektor oder die Objektivkomponenten keinen Erschiitterungen oder tiberma-
Bigen Belastungen aus, da der Projektor und die Objektivkomponenten Prazisionsteile enthalten.
Transportieren Sie den Projektor nicht mit angebrachtem Objektiv. Nehmen Sie vorher stets das
Objektiv ab.

Wenn der Projektor wahrend des Transports Erschiitterungen ausgesetzt wird, kann das Objektiv
oder der Objektivverschiebungsmechanismus beschadigt werden.

Bevor Sie das Objektiv entfernen oder einbauen, schalten Sie den Projektor aus, warten Sie, bis
die Lufter zum Stillstand gekommen sind, und ziehen Sie das Netzkabel ab.

Bertihren Sie wahrend des Betriebs NICHT die Objektivoberflache, den Fokus-/Zoommotor oder
die Zahnrader. .

Achten Sie sorgfaltig darauf, dass kein Schmutz oder Ol auf die Objektivoberflache gelangt und
dass Sie die Objektivoberflache nicht zerkratzen.

Um die Gefahr zu vermeiden, dass das Objektiv herunterféllt, sollten Sie es nicht an hoch ge-
legenen Orten handhaben. Fiihren Sie die Verfahren auf einer ebenen Oberflache durch.

Wenn Sie das Objektiv langere Zeit ausgeschaltet lassen, bringen Sie die Staubschutzkappe am
Projektor an, damit kein Staub oder Schmutz in das Innere gelangt.

Wenn Sie das Objektiv am Projektor anbringen, ist der Objektivdeckel der entsprechenden Seite
abzunehmen. Wenn Sie den Objektivdeckel auf dem Projektor belassen, kann dieser beschadigt werden.
Bringen Sie nach dem Abnehmen des Objektivs stets den vorderen und hinteren Objektivdeckel
an. Andernfalls kann das Objektiv beschadigt werden, selbst wenn die Abdeckungen nur fiir kurze
Zeit nicht angebracht sind. Stellen Sie das Objektiv niemals auf den Kopf, wenn die Objektivdeckel
nicht angebracht sind.

Bewahren Sie den entfernten Objektivdeckel an einem sicheren Ort auf.




Inhalt (Arbeitsablauf)

1. Vorbereitung (siehe nachste Seite)

1-1. Den Modellnamen des Projektors iiberpriifen
1-2. Die mitgelieferten Artikel liberpriifen

1-3. Einen Kreuzschlitzschraubendreher und Sechskantschraubendreher mit Kugelkopf
bereithalten

1-4. Das Objektiv des Projektors kalibrieren

.

2. Installation (siehe Seite DE-5)

3. Einstellung (siehe Seite DE-9)

3-1. Objektivverschiebung | 3-2.Zoom 3-3. Fokus
(Position des projizierten Bildes)

DE-2



1.Vorbereitung

1-1. Den Modellnamen des Projektors iiberpriifen

Dieses Objektiv ist mit den folgenden Projektoren kompatibel.

Dieses Handbuch beschreibt die Installation mit der NP-PA1004UL-W-Serie. Ein Teil des Vorgangs
unterscheidet sich bei der NP-PV800UL-W-Serie.

@ Objektiv: 1 Stk.
Montage kit
(@ Objektivhalterung 1 Stk.
(® Objektivbefestigung 1 Stk.
@ stiitzfuB 1 Stk.
Teile A
(® Schraube (M4 x 10) 10 Stk.
(® Schraube (M4 x 30) 4 Stk.
(@ Schraube (M3 x 6) 4 Stk.
Unterlegscheibe 4 Stk.
(@ Mutter 4 Stk.
Teile B
(0 SEMS-Schraube 4 Stk.
D Stiitztrager 4 Stk.
Teile C
@2 Schraube (M4 x 20) 4 Stk.
(3 Manschette 4 Stk.
(® Gummidampfer 1 Stk.
Werkzeug
(@9 Schraubenschliissel 1 Stk.
Bedienungsanleitung
(dieses Dokument): 1 Stk.

Teile B und Werkzeug: Nicht verwenden.
Teile C: Wird nur fur die Modelle der NP-PV800UL-W-Serie verwendet.

DE-3



1-3. Einen Kreuzschlitzschraubendreher und Sechskantschraubendreher
mit Kugelkopf bereithalten

« Kreuzschlitzschraubendreher, Sechskantschraubendreher mit Kugelkopf (3 mm), Schrauben-
schlissel (7 mm)

- Fir die Montage an einer Decke oder im Hochformat ist eine Halterung erforderlich, die stark
genug ist, um das Gewicht des Projektors, Objektivs und Montage kit zu tragen.

1-4. Das Objektiv des Projektors kalibrieren

Bringen Sie das Objektiv des Projektors in die Ausgangsposition, ohne dass das Objektiv angebracht ist.
Detaillierte Informationen zum Anschlie3en des Netzkabels und zum Ein- und Ausschalten finden
Sie im Bedienungshandbuch des Projektors.

1. SchlieBen Sie das Netzkabel an den Projektor an und driicken Sie dann die (POWER)-Taste,
um den Projektor einzuschalten.

2. Halten Sie die Taste ZOOM/L-CALIB mindestens 2 Sekunden lang gedriickt.

3. Nachdem die Bewegung des Objektivs abgeschlossen ist, halten Sie die Taste SHIFT/HOME
POSITION mindestens 2 Sekunden lang gedriickt.

4. Nachdem die Bewegung des Objektivs abgeschlossen ist, warten Sie mindestens 10 Sekun-
den und driicken Sie dann zweimal die (POWER)-Taste, um den Projektor auszuschalten.

5. Ziehen Sie das Netzkabel vom Projektor ab.

Referenz:
Bedientasten am Projektor (Gedriickthalten)

NP-PA1004UL-W-Serie

1
@ 2 — 3. Taste SHIFT/HOME POSITION

(&
® - 0O

POSITION

— 2.Taste ZOOM/L-CALIB.

NP-PV800UL-W-Serie

@) () @D
Enlcsaa
@ (7))
((SHIFT }———— 3.Taste SHIFT/HOME POSITION

=L-CALIB. =HOME
POSITION @

2. Taste ZOOM/L-CALIB.

-

D

m
B



2. Installation

2-1. Die Objektivbefestigung am Objektiv anbringen

1. Bringen Sie die Objektivbefestigung am
Objektiv an.

Bringen Sie die Objektivbefestigung wie in der
Abbildung gezeigt an, richten Sie die 4 Schrau-
benbohrungen an denen des Objektivs aus und
befestigen Sie sie mit den 4 Schrauben (M3 x 6).

2-2, Die Objektivhalterung zusammenbauen und am Projektor
befestigen

1. Bringen Sie den Stiitzfu3 an der Objektiv-
halterung an.
Richten Sie die 6 Schraubenbohrungen am
Stutzfull an denen an der Objektivhalterung
aus und befestigen Sie ihn mit den 6 Schrauben
(M4 x 10).

2. Drehen Sie den Projektor um.
Legen Sie das Projektorgehduse mit der Ober-
seite nach unten auf einen Tisch, auf dem ein
weiches Tuch liegt.

/\ VORSICHT

« Zum Transport des Projektors sind mindes-
tens zwei Personen erforderlich. Wenn Sie
versuchen, den Projektor alleine zu trans-
portieren, konnten Sie sich am Riicken ver-
letzen oder andere Verletzungen erleiden.

DE-5



Gehen Sie bei der NP-PV800UL-W-Serie wie folgt vor.

* Diese Schritte sind nicht erforderlich, wenn Sie die Deckenhalterung anbringen.

() Ausfahren der NeigungsfiiBe
Drehen Sie die Neigungsfiil3e, um sie etwa 10 mm auszufahren.

(@ Anbringen des Gummidampfers
Entfernen Sie die Abdeckung vom doppelseitigen Klebeband auf dem Gummidampfer und
befestigen Sie das Klebeband am hervorstehenden Teil des Gerats.

-
(o

3. Bringen Sie die Objektivhalterung am Pro-
jektor an.

Setzen Sie die in Schritt 1 zusammengebaute
Objektivhalterung wie in der Abbildung gezeigt
auf den Projektor, richten Sie die 4 Schrauben-
offnungen mit denen am Projektor aus und be-
festigen Sie sie mit den 4 Schrauben (M4 x 10).

Beachten Sie bei derVerwendung der Decken-
halterung mit den Modellen der NP-PV800UL-
W-Serie Folgendes.

(@) Setzen Sie die Manschetten auf die Schrau-
benoffnungen der Deckenbefestigung des
Gerats.

(@ Richten Sie die Bohrungen in den Man-
schetten an den Schraubenbohrungen fir
die Deckenbefestigung aus. :

(® Sichern Sie sie mit den vier (4) Schrauben : Manschette
(M4 x 20).

DE-6



4. Bringen Sie den Projektor wieder in seine
urspriingliche Ausrichtung.

/\ VORSICHT

« Zum Transport des Projektors sind mindes-
tens zwei Personen erforderlich. Wenn Sie
versuchen, den Projektor alleine zu trans-
portieren, konnten Sie sich am Riicken ver-
letzen oder andere Verletzungen erleiden.

2-3. Das Objektivam Projektor anbringen

* Denken Sie daran,den Objektivdeckel an der Riickseite
des Gerdts abzunehmen. Wenn das Objektiv mit auf-
gesetztem Objektivdeckel am Projektor angebracht
wird, kann es zu einer Fehlfunktion kommen.

1. Das Objektivam Projektor anbringen Vorsprung

1. Flhren Sie das Objektiv mit dem Pfeil auf
dem Objektivschild nach oben in den Pro-
jektor ein. R
Fiihren Sie das Objektiv langsam vollsténdig \/
ein.

2. Drehen Sie das Objektivim Uhrzeigersinn.
Drehen Sie es, bis es horbar einrastet.
Das Objektiv ist nun am Projektor befestigt.

DE-7



2. Befestigen Sie die Objektivbefesti-
gung an der Objektivhalterung.

Flihren Sie 4 Schrauben (M4 x 30) mit
Unterlegscheibe und Mutter durch NN
die Bohrungen an der Vorderseite der g %@
Objektivbefestigung, um sie an der l N 5
Objektivhalterung zu befestigen. NN @;» E
Sie werden als ,Einstellschrauben” be-

i

zeichnet. Abstand (ca. 10 mm)
Achten Sie dabei darauf, dass die Unter- ‘ -
legscheiben leicht gegen die Objektiv- Unterlegscheibe - Mutter

befestigung gedriickt werden, und las-
sen Sie etwa 10 mm Abstand zwischen
der Mutter und der Objektivhalterung.

Einstellschraube Objektivhalterung

Seitenansicht

HINWEIS:

- Die Objektivhalterung hat 8 Schraubenbohrungen.
Verwenden Sie die Schraubendéffnungen A fiir die NP-PA1004UL-W-Serie.
Verwenden Sie die Schraubenéffnungen B fiir die NP-PV800UL-W-Serie.

Schraubenbohrungen A Schraubenbohrungen B

Damit ist die Montage des Montage kit abgeschlossen.

Stellen Sie den Projektor auf und schlieBen Sie das Netzkabel und die Videokabel an. Nehmen Sie
dann den vorderen Objektivdeckel ab, schalten Sie den Projektor ein und nehmen Sie die entspre-
chenden Einstellungen vor.

DE-8



3. Einstellung

+ Detaillierte Informationen zu den Funktionen, wie zum Beispiel Objektivverschiebung, Zoom,
Fokus, Testbilder und Einstellung der Verzerrung und Bildqualitat, finden Sie im Installations-
handbuch des Projektors.

« Um den peripheren Fokus einzustellen, drehen Sie die vier (4) Einstellschrauben, die unter,,2-3.
Das Objektiv am Projektor anbringen” festgezogen wurden. (— Siehe nédchste Seite)

Einstellschraube

3-1. Objektivverschiebung (die Position des projizierten Bildes)
Stellt die Position der Projektionsflache ein.
1. Driicken Sie die Taste SHIFT/HOME POSITION.
« Driicken Sie die SHIFT-Taste auf der Fernbedienung.
2. Driicken Sie die V A €4 -Tasten, um das projizierte Bild
zu verschieben.

HINWEIS:

« Losen Sie die 4 Einstellungsschrauben und -muttern,
wenn Sie das Objektiv verschieben, nachdem Sie die
Einstellungsschrauben nach einer Fokuseinstellung
festgezogen haben.

3-2.Zoom
Stellt die GroR3e der Projektionsflache ein.
1. Driicken Sie die Taste ZOOM/L-CALIB.
« Driicken Sie die ZOOM-Taste auf der Fernbedienung.
2. Driicken Sie die €4» -Tasten, um den Zoom einzustellen.

DE-9



3-3. Fokus

Stellen Sie den Fokus des projizierten Bildes ein.

- Die Projektion eines Testbildes hilft bei der Einstellung des Fokus.

« Wechseln Sie zwischen der Einstellung der Bildmitte und der Rander der Projektionsflache, bis
das gesamte Bild ein ausgewogenes Gleichgewicht aufweist.

Der Fokus in der Mitte der Projektionsflache

~—_
&

Der Fokus am Rand der , ) y Der Fokus am Rand der
Projektionsflache \ “E+e / e / Projektionsflache
\
/. ZT TN \
/. \
\\
[¢ ) i
i immy)
\ /.
\ /.
“EE+ - Ra -l
G e e
] 2 . mile

1. Stellen Sie den mittleren Fokus ein.
1. Dricken Sie die FOCUS-Taste.
2. Dricken Sie die Tasten € », um den mittleren Fokus einzustellen.

Wenn das Bild nicht fokussiert ist, positionieren Sie den Fokus so nah wie mdéglich an der
Projektionsflache und stellen Sie den Fokus auf die minimale oder maximale Einstellung.

2. Stellen Sie den peripheren Fokus ein.
Verwenden Sie die vier (4) Einstellschrauben, um den Rand der Projektionsflache einzustellen.

« Wenn der Projektor auf einem Tisch oder auf dem Boden steht, fokussieren Sie, indem Sie
die Einstellschrauben ® und ®) festziehen.

Wenn er an der Decke installiert ist, fokussieren Sie, indem Sie die Einstellschrauben © und

© festziehen.
Aufstellung auf dem Boden Installation an der Decke
® ®

@ R®

« Wenn Sie das Bild von der Decke auf den Boden oder umgekehrt (vertikale Projektion)
projizieren, fokussieren Sie, indem Sie alle Einstellschrauben @), ®), © und © festziehen.




1. Drehen Sie die Einstellschraube ® (oder ©) entsprechend der oben angegebenen Einbau-
position in Schritten von jeweils 1/4 Umdrehung.
Stellen Sie den peripheren Fokus an der linken Seite der Projektionsflache ein.

2. Drehen Sie anschlieBend die Einstellschraube ®) (oder ©) in Schritten von jeweils 1/4 Um-
drehung.
Stellen Sie den peripheren Fokus an der rechten Seite der Projektionsflache ein.

Referenz:

« Wenn ein deutliches Ungleichgewicht zwischen der linken und rechten Position der Fokus-
ebene besteht, ziehen Sie die Einstellschraube an der Seite mit der von der Projektionsflache
am weitesten entfernten Fokusposition deutlich fester an (Bild links).

: / Die Fokusebene [ Projektionsfliche

\ Projektionsflache \

' Die Fokusebene

[ Projektionsflache

Die Fokusebene

Mehr festziehen ¢ Festziehen

Durch das Festziehen der | Lésen Sie die Einstellschrau- | Ziehen Sie die linken und
Einstellschraube wird die | be, wenn die Fokusebene : rechten Einstellschrauben
Fokusebene vom Projektor : (ber die Projektionsflache : allmahlich fest und I6sen Sie
weg bewegt. ¢ hinausragt. ¢ sie wieder, um die Fokusebe-

: © ne auf die Projektionsflache

: auszurichten.
3. Gleichen Sie den peripheren Fokus an der linken und rechten Seite mit dem mittleren

Fokus aus.

Wiederholen Sie die Schritte 1 und 2, bis die gesamte Projektionsflache optimal fokussiert ist.

Impma|

H‘
ey
]

|

Tl
%
)
o
|
=
i

[

N
s
ore B
TT11

.8
B
B
TT1

e

Einstellung des mittleren
Fokus

[+
o]

e

E
)

T
N

+ < il
\ >

e | o G|
D G s
Einstellung des Fokus an der Einstellung des Fokus an der

linken Seite rechten Seite

DE-11



4, Sichern Sie die Einstellschrauben.

Sobald die Position der Einstellschrauben in Schritt 3 eingestellt ist, ziehen Sie die Muttern fest,
bis die Unterlegscheiben die Objektivbefestigung bertihren.

Dadurch werden die vier (4) Einstellschrauben an der Objektivbefestigung gesichert.
Ziehen Sie die Mutter fest.

i

Objektivbefestigung

Damit ist die Einstellung der Position, Gro8e und des Fokus des projizierten Bildes abge-
schlossen.

Referenz:
« Gehen Sie wie folgt vor, um das Objektiv vom Projektor abzunehmen.
1. Bringen Sie den Objektivdeckel an.
2. Entfernen Sie die vier (4) Einstellschrauben.
3. Schalten Sie den Projektor ein und projizieren Sie ein Bild.
4. Halten Sie die Taste SHIFT/HOME POSITION mindestens 2 Sekunden lang gedriickt.
Die Objektivposition wird in die Ausgangsposition zurlickgesetzt.
5. Schalten Sie den Hauptschalter aus und ziehen Sie das Netzkabel ab.
Warten Sie, bis das Projektorgehduse so weit abgekuihlt ist, dass Sie es anfassen kdnnen.
6. Driicken Sie die Objektiventriegelungstaste an der Unterseite des Objektivanschlusses an
der Vorderseite des Projektors vollstdndig hinein und drehen Sie das Objektiv im Gegenuhr-
zeigersinn.
Das Objektiv ldsst sich abnehmen.

DE-12



Manual del usuario del objetivo Modelo NP50ZL

Introduccion

Este es el Manual del usuario del objetivo de zoom NP50ZL.

En este manual se explican las precauciones para manipular el objetivo y como instalar y ajustar el
kit de soporte (La pieza que se crea combinando el soporte del objetivo, el accesorio del objetivo
y la base de soporte).

/\ ADVERTENCIA

« Al mover el proyector, asegurese de usar la ayuda de al menos dos personas. Intentar mover el
proyector por su cuenta podria causar dolor de espalda u otras lesiones.

- Cuando instale el objetivo, asegurese de fijarlo al proyector utilizando el kit de soporte. De lo
contrario, el objetivo podria caerse y provocar lesiones.

- Apague el proyector y desenchufe el cable de alimentacién antes de instalar el objetivo y el kit
de soporte.

NOTA:
« Los dibujos de este manual pueden diferir ligeramente de los productos reales.

Precauciones de manipulacion de los objetivos

« No someta el proyector o los componentes del objetivo a golpes o cargas excesivas, ya que el
proyector y los componentes del objetivo contienen piezas de precision.

- No mueva el proyector con el objetivo montado. Asegurese de retirar previamente el objetivo.
Si somete el proyector a golpes durante el desplazamiento, podria dafar el objetivo o el meca-
nismo de desplazamiento del objetivo.

« Antes de retirar o instalar el objetivo, asegurese de apagar el proyector, espere hasta que se
detengan los ventiladores de refrigeracion y desenchufe el cable de alimentacion.

« Durante el funcionamiento, NO toque la superficie del objetivo, el motor de enfoque/zoom ni los
engranajes.

« Tenga mucho cuidado de que no entre suciedad ni aceite en la superficie del objetivo y de no
rayarla.

- Para evitar el riesgo de caida del objetivo, no realice operaciones en lugares elevados. Realice las
operaciones en una superficie plana.

« Cuando deje el objetivo apagado durante largos periodos de tiempo, coloque la tapa antipolvo
en el proyector para evitar que entre polvo o suciedad.

« Cuando monte el objetivo en el proyector, asegurese de retirar la tapa del objetivo del lado que
se va a montar. Dejar la tapa el objetivo puesta podria dafnar el proyector.

« Asegurese siempre de colocar las tapas delantera y trasera del objetivo después de retirar el
objetivo. De lo contrario, el objetivo podria resultar dafado, incluso silas tapas se dejan sin colocar
durante un breve periodo de tiempo. No coloque nunca el objetivo sobre su extremo sin las tapas
del objetivo colocadas.

+ Guarde la tapa del objetivo extraida en un lugar seguro.




Contenido (flujo de trabajo)

1. Preparacion (consulte la pagina siguiente)

1-1. Compruebe el nombre del modelo del proyector
1-2. Compruebe los articulos incluidos

1-3. Prepare un destornillador Phillips y un destornillador hexagonal de punta esférica
1-4. Calibre el objetivo del proyector

o

2. Instalacion (consulte la pagina ES-5)

3. Ajuste (consulte la pagina ES-9)

3-1. Desplazamiento del
objetivo
(posicion delaimagen proyectada)

3-2.Zoom

3-3. Enfoque

ES-2




1. Preparacion

1-1. Compruebe el nombre del modelo del proyector

Este objetivo es compatible con los siguientes proyectores.

Este manual describira la instalacién utilizando la serie NP-PA1004UL-W. Parte del proceso diferira
con la serie NP-PV800UL-W.

Serie NP-PA1004UL-W Serie NP-PV800UL-W

1-2. Compruebe los articulos incluidos

(D Objetivo: 1 pza.
Kit de soporte
(@ Soporte de la objetivo 1 pza.
(® Accesorio de la objetivo 1 pza.
(@ Base de soporte 1 pza.
Piezas A
® Perno (M4x10) 10 pzas.
(® Perno (M4 x 30) 4 pzas.
@ Tornillo (M3 x 6) 4 pzas.
Arandela 4 pzas.
(@ Tuerca 4 pzas.
Piezas B
10 Tornillo SEMS 4 pzas.
@D Poste de soporte 4 pzas.
Piezas C
@ Tornillo (M4 x 20) 4 pzas.
@3 Collar 4 pzas.
(9 Almohadilla de goma 1 pza.
Herramienta
(@9 Llave 1 pza.
Instrucciones de manipulacion
(este documento): 1 unidad

Piezas B y herramienta: No utilizar.
Piezas C: Se utiliza Unicamente con los modelos de la serie NP-PV800UL-W.

ES-3



1

-3. Prepare un destornillador Phillips y un destornillador hexagonal de

punta esférica

1

Destornillador Phillips, destornillador hexagonal de punta esférica (3 mm), llave (7 mm)
Para montaje en techo o en posicion de retrato, un soporte de montaje con suficiente resistencia
para soportar el peso combinado del proyector, el objetivo y el kit de soporte.

-4, Calibre el objetivo del proyector

Vuelva a colocar el objetivo del proyector en la posicién inicial sin el objetivo montado.
Para obtener mas informacién sobre cdémo conectar el cable de alimentacién y encender/apagar
el proyector, consulte el Manual del usuario del proyector.

1.
2.
3.

Conecte el cable de alimentacidn al proyector y pulse el botén (POWER) para encenderlo.
Mantenga pulsado el boton ZOOM/L-CALIB durante 2 segundos o mas.

Una vez finalizado el movimiento del objetivo, mantenga pulsado el botén SHIFT/HOME
POSITION durante 2 segundos o mas.

Una vez finalizado el movimiento del objetivo, espere 10 segundos o mas y pulse dos
veces el botén (POWER) para apagar el proyector.

Retire el cable de alimentacién del proyector.

Referencia:
Botones de operacién en la unidad del proyector (pulsacién larga)

Serie NP-PA1004UL-W

1
@ @ — 3. Botén SHIFT/HOME POSITION

L-CALIB\ = HOME
POSITION

— 2.Boton ZOOM/L-CALIB.

Serie NP-PV800UL-W

2

2. Boton ZOOM/L-CALIB.
@]

=

(sHFr }———— 3. Bot6n SHIFT/HOME POSITION

=L-CALIB. =HOME
POSITION @

-




2. Instalacion

2-1. Instale el accesorio del objetivo en la unidad del objetivo

1. Instale el accesorio del objetivo en la unidad
del objetivo.

Instale el accesorio del objetivo como se
muestra en la figura, alinee los 4 orificios para
tornillos con los del objetivo y apriete usando
los 4 tornillos (M3 x 6).

2-2, Monte el soporte del objetivo y coloquelo en el proyector

1. Coloquelabase de soporte en el soporte del
objetivo.
Alinee los 6 orificios para tornillos de la base
de soporte con los del soporte de la objetivo y
apriételos con los 6 pernos (M4 x 10).

2. Déla vuelta al proyector.

Coloque la caja del proyector boca abajo sobre
una mesa con un pafo suave colocado.

A ADVERTENCIA

« Al mover el proyector, asegurese de usar la
ayuda de al menos dos personas. Intentar
mover el proyector por su cuenta podria
causar dolor de espalda u otras lesiones.

ES-5



Realice lo siguiente para la serie NP-PV800UL-W.

* Estos pasos no son necesarios al instalar el soporte de techo.

() Extienda la pata de inclinacién
Gire las patas de inclinacién para extenderlas aproximadamente 10 mm.

(@ Coloque la almohadilla de goma
Retire la cubierta de la cinta adhesiva de doble cara de la almohadilla de goma y fije la cinta
a la seccién que sobresale de la unidad.

-
(o

3. Coloque el soporte del objetivo en el proyec-
tor.

Coloque el soporte del objetivo montado en
el paso 1 en el proyector como se muestra en
la figura, alinee los 4 orificios para tornillos con
los del proyector y apriete usando los 4 pernos
(M4 x 10).

Realice lo siguiente cuando utilice el montaje
en techo con los modelos de la serie NP-
PV80OUL-W.

(@ Coloque los collares en la parte superior de
los orificios para los tornillos del soporte de
techo de la unidad.

(@ Alinee los orificios de los collares con los
orificios para los tornillos del soporte de
techo. !

® Asegure con cuatro (4) tornillos (M4 x 20). ' Collar

ES-6



4. Vuelva a colocar el proyector en su orienta-
cién original.

A ADVERTENCIA

« Al mover el proyector, asegurese de usar la
ayuda de al menos dos personas. Intentar
mover el proyector por su cuenta podria
causar dolor de espalda u otras lesiones.

2-3. Monte la unidad del objetivo en el proyector

* Asegurese de extraer la tapa del objetivo en la parte
trasera de la unidad. Si monta el objetivo con la tapa
del objetivo instalada en el proyector, podria provocar
un funcionamiento incorrecto.

1. Montelaunidad del objetivo en el proyector

1. Introduzca lalente en el proyector de modo
quelaflechaenlaetiqueta de lalente quede
hacia arriba.

Introduzca lentamente la lente hasta el
fondo.

2. Girelalente enladireccion de las manecillas
del reloj.

Gire hasta que escuche un clic.
La lente se encuentra ahorafija al proyector.

Protrusion

ES-7




2. Fijeelaccesorio del objetivo al sopor-
te del objetivo.

Pase 4 pernos (M4 x 30) con laarandela
y la tuerca a través de los orificios de
la cara del accesorio del objetivo para
apretarlos en el soporte del objetivo.

W

<
»
®

Se denominan “pernos de ajuste”.
Al hacerlo, asegurese de presionar

ligeramente las arandelas contra el Espacio (aprox. 10 mm)
accesorio del objetivo y deje aproxi- -
madamente 10 mm de espacio entre la Arandela - Tuerca

tuerca y el soporte del objetivo.

Perno de Soporte del
ajuste objetivo

Vista lateral

NOTA:

- El soporte del objetivo tiene 8 orificios para tornillos.
Utilice los orificios para tornillos A para la serie NP-PAT004UL-W.
Utilice los orificios para tornillos B para la serie NP-PV800UL-W.

Orificios para tornillos A Orificios para tornillos B

Esto completa el montaje del kit de soporte.
Instale el proyector y conecte el cable de alimentacién y los cables de video. A continuacion, retire
la tapa delantera del objetivo, encienda el proyector y ajuste cada opcion.

ES-8



3.Ajuste

« Consulte el manual de instalacién del proyector para obtener informacion detallada sobre las
operacionesy precauciones relacionadas con el desplazamiento del objetivo, el zoom, el enfoque,
los patrones de prueba y el ajuste de la distorsion y la calidad de la imagen.

. Para ajustar el enfoque periférico, gire los cuatro (4) pernos de ajuste que se apretaron en “2-3.
Monte la unidad del objetivo en el proyector”. (— Consulte la pagina siguiente)

Perno de ajuste

Ajuste la posicidn de la pantalla de proyeccion.
1. Pulse el botén SHIFT/HOME POSITION.
« Pulse el boton SHIFT del mando a distancia.

3-1. Desplazamiento del objetivo (la posicion de la imagen proyectada) .

2. Pulse los botones ¥ A €4p para mover la imagen pro-
yectada.

NOTA:
- Afloje los 4 pernos de ajuste y las tuercas al desplazar

el objetivo después de apretar los pernos de ajuste
siguiendo un ajuste de enfoque.

3-2.Zoom
Ajusta el tamario de la pantalla de proyeccién.
1. Pulse el boton ZOOM/L-CALIB.
+ Pulse el botén ZOOM del mando a distancia.
2. Pulse los botones €4 para ajustar el zoom.

ES-9



3-3. Enfoque

Ajuste el enfoque de la imagen proyectada.

« Proyectar un patron de prueba ayudara a ajustar el enfoque.

« Alterne entre el ajuste del centro y la periferia de la pantalla hasta que toda la imagen obtenga
un buen equilibrio.

El enfoque del centro de la pantalla

~—_
&

El enfoque de la perife- e ) \ ‘+‘N', El enfoque de la perife-
. _+H+ / +Ea+ | .
ria de la pantalla o+ / e ria de la pantalla
\
/ = TN \
[ \
\\
[¢ ) i
L iy
\ /.
\ /.
E o+
’+ ) ( ++’
] 2 . mile

1. Ajuste el enfoque central.
1. Pulse el botén FOCUS.
2. Pulse los botones € » para alinear el enfoque central.

Si laimagen no enfoca, coloque la posicion de enfoque lo mas cerca posible de la pantalla
y mueva el enfoque al ajuste minimo o méaximo.

2. Ajuste el enfoque periférico.
Utilice los cuatro (4) pernos de ajuste para ajustar la periferia de la pantalla.
- Si el proyector se encuentra en una mesa o en el suelo, enfoque apretando los pernos de

ajuste Ay ®.
Si estd instalado en el techo, enfoque apretando los pernos de ajuste © y ©.

Colocacién en el suelo Montaje en techo

®® O & ®® B 0 7 D

@0 2|

5 T

- Si proyecta una imagen desde el techo al suelo o viceversa (proyeccion vertical), enfoque
apretando todos los pernos de ajuste ®, ®, ©y ©.




1. Gire el perno de ajuste ® (o ©) en intervalos de 1/4 de vuelta seguin la posicién de montaje
anterior.

Ajuste el enfoque periférico en el lado izquierdo de la pantalla.
2. A continuacion, gire el perno de ajuste B (o ©) en intervalos de 1/4 de vuelta.
Ajuste el enfoque periférico en el lado derecho de la pantalla.

Referencia:

- Si hay un desequilibrio significativo entre las posiciones izquierda y derecha del plano enfoca-
do, apriete significativamente el perno de ajuste lateral con la posicion enfocada mas alejada
de la pantalla (imagen del lado izquierdo).

[ Pantalla : f El plano enfocado f Pantalla

\ Pantalla \
' El plano enfocado

A

El plano enfocado

Apriete mas
T

Apretar el perno de ajuste Afloje el perno de ajuste si el Apriete y afloje gradual-
aleja el plano enfocado del : plano enfocado se extiende i mente los pernos de ajuste
proyector. i mas alla de la pantalla. i izquierdo y derecho para
:  alinear el plano enfocado con

i la pantalla.

3. Equilibre el enfoque periférico izquierdo y derecho con el enfoque central.
Repita los pasos 1y 2 hasta que toda la pantalla alcance el enfoque éptimo.

mmg nyma!
[CEm 0
[ret e e
e £

%a
T3
niin;

=

)

e
e
10|

T
|
)

: <
>

[Cag LB |
i T
7

| B+ ke | e
et i & #5)
Ajuste del enfoque del lado Ajuste del enfoque del lado
izquierdo derecho

ES-11



4. Asegure los pernos de ajuste.

Una vez ajustada la posicion de los pernos de ajuste en el paso 3, apriete las tuercas hasta que
las arandelas toquen el accesorio del objetivo.

Esto fijara los cuatro (4) pernos de ajuste al accesorio del objetivo.

Apriete la tuerca.

Accesorio del objetivo

—

Esto completa el ajuste de la posicion, el tamaiio y el enfoque de la imagen proyectada.

Referencia:
- Utilice el siguiente procedimiento para extraer el objetivo del proyector.
1. Coloque la tapa del objetivo.
2. Retire los cuatro (4) pernos de ajuste
3. Encienda el proyector y visualice una imagen.
4. Mantenga pulsado el botén SHIFT/HOME POSITION durante 2 segundos.
La posicién del objetivo se moverd a la posicidn inicial.
5. Apague el interruptor de alimentacién principal y, a continuacion, desenchufe el cable de
alimentacion.
Espere hasta que la carcasa del proyector se haya enfriado lo suficiente como para manipu-
larlo.

6. Gire el objetivo en sentido antihorario mientras presiona hasta el fondo el botén de libe-
racion del objetivo en la parte inferior de la seccion de montaje del objetivo en el panel
frontal del proyector.

El objetivo se desprende.

ES-12



JOYx09—RAL X BREHIAS NP50ZL

[FUsHIC

AEF TJOVIIY—AL VX (NP50ZL) DERERECY., JOIJ T IY—AL Y
AxF 7z [ ZXAZy ] Ex#ULTVET,

AETE. LYXAZy FORDFVEDTERIRS, Uik—bry b (LY RILY—,
VYAT7EvF XY b UiRk— =R 7ZEBEDEcEBm) O]MD I ER/EBDITEE
FEALTWVE T,

2 AETERULTLKEEW, OV 75 —% 1 ATHS LIFTEE.
[FHPERORALELEDCENHDET,

cLVZXAZy FERD I BERE. BFYR—bFy MEEDT. LY
A=y hEJOVIIY—ICEAELTLIEEW, BELEWVNE. LY
A1Zy hHSETULT. THDREREEDET,

LAz bEYIR— bRy FORDHIFIE. OV I5—DER
ZYIb. RIS I%Z It MY SIRWIRETIERE LT IEE LY,

[>
i
i

<ER> -AEBDA A MIRBEORRESDELDBEENHDET,

LYZX1Zvy MRbRVLWEDER

- JOVIO—BFIUOUVVADZ Y MIRBEBRCCECVET, FEZSA D, #
BIEAZMNATD ULIEWTL EE W,

VXA b EEELTCVWDEEICTOYVI VY —ZBEHITDEEWVN > It XD
Zy hZEERDODAHULTHSEHLTLLIEEV., BEITORICTOIV I IY—(ICHEZSA
BE. VVXAZY hBKRULV VXD T MEEDIRIET 2B ZNHNHDFT,

XA ZY FOERDOHAUBRUBD[MITORG. BREZYID. AT 7/ EIEEk. &
BIO—RZI21EY b SikVWTHhSEERE LT EEL,

<AEER, VXA 74— DR/ A—LE—F—. BKXOFFEICIFER CHNIEWNT
<IEEL

UV XEICOZWHEENMTE LD, BHIHTENR D IC TR TEFELEEL,

LAy bOETOBRMEND DD, BVBTCTEELEWVWT. FHIFIBFRT.
SO EVNR D [T EZBNTEEL T 0L,

BB XA ZY AN U TBLESIE. OV 105 —I(CBREF v v TZED {13,
FTOPI=ZHREBICASENLDICLTLIEEL,
XAz hETOVIOY—ICEDFIFDERIE. B
DRHFDEDL Y XF v TZHFROAN LT EE
Wo VYAXF vy TZDIFREFFWMOMIDE. 7O

VIO EEDRRELEDFET,

XAz w RO UTEH ElF. AFETEIE &AM
FOLUYXFvy TZROMIFTLL TV, LY X
F v IZBRDMITEVE, BRETCH>THL VX
AICENMIKEBEEDDDFRT, LVXF vy IZED
FFFICUYAXAZY bEITTEL T EF XS
UIFWTLIEE0,

- BOAH UL ZXF v v TERUICHEELTLIEEL,

JA-1




BL U (REDTFEN)

1-1. 70V 1 05—DBRZZERT D

1. %

(= RNR—=3)

2. ;O {7

(= JA-5R=Y)

3. R
(— JA-9 R—Y)

1-2. ERmRZETERT D

1-3. 7S ARSAIN—=PR=ILIRA 2V R RSAINN—EBET D
1-4. 70909 —DLVAFvUIT—2 3 VERITID

o

2. VYA MUV YXTZYFRAY RO TS

3-1.LVXV T~ (%
EBEEROME)

JA-2

3-3. 7#—HRA




1. #EfiE
1-1. 090 9—DBR%EERITS

COLYXAZw NE, xOT7OIV T I —ICHRULTVET,
AZE[F.NP-PA1004UL-WIL U —=XDHEZEE(CUTEHRBBLE T . NP-PVSOOUL-WIL /1) —
RF—EBDOFIENERIEDF T,

NP-PA1004UL-WJL

NP-PV80OUL-WJL [§
YU—2 A

Y-

1-2. AEmZEER TS

OUryXa1zZw k118

PR—bFw b
@UYAMRILEY— 1@
@OUIATHIYFAYKN 1@
@ HiR— X=X : 118

ZRam A
®RIL < (M4 X 10) 1 10 A&
®MILE (M4 X 30) 144
DRY (M3 X6): 47
®Tvyv— 41
OF VA X

EZRam B
WITYYv—IERY 418
374 418

e
@RI (M4 X 20): 47K
®H>— 418
GIdLIwyar 1@

TE
®LYF 118

® BUREREAZE (&) 11
SEREB. ITB @A LEBA.
- BB C : NP-PVBOOUL-WIL ¥ U —ZXDH TR LET

1-3. TS ARSALIN=0R=IbiRA Y P RSAN—-ZBETS
CTSARSA = R JURA Y N RS A= G0 3mm). ZJtF Gl 7mm)
CRBOELFR— N — NCRETRBAR. TOVTI5—ELYZ1"y RBED
Hi— M v FOBESICHHTHZ SNBEO T RE

JA-3




1-4. 7091 99—-OLIAF+vVUITL—Y3aVERTTS
L XAZw hERDMIFTOWEWRET, OV I I —DU Y XNBERER—LRY
VaVICRUZED,

BEREI—ROEFKEERA/UICDWVT., #uLEFT7O0YV oy —0kREZZ &<
Jraray AN

1. 70V 1 049—ICERI—REERL. ORI VERULTEREAND,

2.[ZOOM/L-CALIB.] R¥ 7% 2 #BLU HiRd,

3. LY XDEMERT#. [SHIFT/HOME POSITION] R4 % 2 2L HiRd,

4. LV ZXDEMERTE 10BUEF>TH S, ORyvE2BHLTIOY Y
Y—DEEFZVD.

5.70Vx05—hSERI—RZRDIHT,

8E
- JOY IO —HAFORIERS Y (RIEL)

NP-PA1004UL-WIL U —X

1
@ @ — 3. SHIFT/HOME POSITION %~/

o= L-CALIB\, = HOME

(&)
oo

L 2.ZOOM/L-CALIB. /R& >

J

NP-PV800UL-WJL &~ U—X

Qv Ca J ) _— 2.Z00M/L-CALIB. 15>/
: .-ENTER :

(veD) ()

(S }———— 3. SHIFT/HOME POSITION K%~/

=L-CALIB. =HOME
POSITION @

-




2. b 17

2-1. bYA=y MCLYATIvF A MERDFIFS

1.X1=y MUY XTIYF AU B
ZWDOF1F %,
VY ZAFPHvFAY MERDBEEICLT,
XAy bD 4 ERTDRINUCEDE.
x3 (M3 X 6) 4RKTUDMFET,

2-2. LY ARV —%ZHHIATT, JOIVII9—ICH
bft3%

1. LY ARV —[CHR— bR—X7ZHD

3%

LY RV —ETR— R—XD 6 &7
DRINZEELET, RILE (M4 X 10) 6
ATULHFIFTET,

2. 709105 -%ZRRY,
PHSHVRREZR W cAD LIS, 0O
V1O ZRRERUTHDICBEET,

A\ EE

Q2 AUETHERLTLLEEWL, JOY TS

Y—7% 1 ATHS EIFTBE. [THVER
DFERELFDIENHDET,

JA-5



NP-PV8OOUL-WIL U —=XDFE(F. FEIFTUTOEZEE L TLEE L,
XKXBOEFEZWOMFDBERIFAETT,
OFILETv hfET
FILRT v rZEILTHBERZ 10mm BEIFLET,
® dLovwyavEERDRIT5
dLovya vV TWdlmmE T — OB Z EHN L. KEDERECEDET
BEDMIFET,

Im-
N EEEEN

3. 70V 0 5—ICLYXRILY—%ZHD
3133,
FlE1 THHITIEL 2 XRILY —ZR"D
EEICLT, OV I9—D4EFRD=xR
IRIZEDE. RILE (M4 X 10) 4T
USFIFERT,

NP-PV8OOUL-WIL U —XTKkmh&EE%
FERTDHEEIE. KT TUUTOFIETERD
fHFEI,

O ®XEDOKBOEFERD [FIFHRIIND
FICHT—ZEL,

@ KBOEFEDRINDAHT—DNRICH
SKIDICEL,

@ %Y (M4 X 20) 4KRTUDHMFD,

JA-6




4.709 1059 —-%ZHEDEBICRT,

A\ EE

D2 AMETHEELTLEEL, OV Y
F—% 1 ATHBELIFEIESE. [THPER
DEREZEDZENHSHDET,

2-3. 09I O9—=IcLYX1=y FRID{FIF5

c BBDUVYAF vy TRHTFWMOALTLIEE L, &
DLV ZXF vy TZEWMD I Te XRIAMAFICED AF1F
BEWEDRERRELEDET,

1. 70905 —ICLYX1 =y hER
b{31F%,

O LrX21Z v bOREFSNIVADKEIDR
IRELZE., JOJIIY—DLYXEAO
DIVICEDETHEAT .

Do HERFTHALTLEELY,

@®@ULrX1=y bEAICET,
AFvEENTDHECTEULET,
LYXAZwy bRT7OY T 75 —KE(ICE
ESNET,

JA-7



2. LYX7H5yvFAY LY XKRIV
F—ICRULHT D,

Jwvyv—&F v hZEANERILE (M4
X 30) 4ARZLU VAT T YF A NEITED
TUOSBULTC, R—M—=X21Zw
UOHFIFERT,

NSz [FAERILE] EFUERT,

TDEE, DyYr—HLYZT S v F X \ ]
Y NCBL Bz 5T, F hELY R PR (10mm £

F—DEICIE 10mm < BVDREHTED gwyki<~7/ Fuk

E3CLTL RS, >

LY ZXRILE—
SRRV

#WH S REE

i

UV ZIRIILT —DRINE 8 EFHDE T,
NP-PAT004UL-WIL U —ZXDBAEIFRITNAZENE T,
NP-PVBOOUL-WIL & U —XDIBAEIFR ITNBZENE T,

INT. LYZX1=y bORDFIIHEDD I LT
JOY 05— =REUCERI—NPRET —JILZERL TSV 2L T, mfl
DUYAFv v TEHNL, TOV T IT—DBERZANT, HEDHEEZ L TLIIEEL,

JA-8



3. A%

UV RXVT b A=Ly TH—NA TANEI =2, EHAEE. BROEERELLE
DsF UDWVREITEWARSIRICDOVCI(E, OV I Iy —DREHASZ CELLIEEL),

BT —HAZEREIT DR, [2-3. 70V 05—CLYZXAZy hEED RT3
TULDMITTc 4 EPRORRERIV MZEILET, (— RX—Y)

%II

RERIL

3-1. LAY T b (IREEEO{IE)
REEEDOMNEZRFELRXT,

1. SHIFT/HOME POSITION K4 > &9,
CUEDVTERET DEAIT SHIFT Ry U ERLED,
2. VAL RYVEBUT. IREEEEZREHT 5,

FE
< DA —NAEBEDMED O CRERNIV N ZEELCH EICU YAV T N EREITDHE
(&, 4 EFOFBRILbET v hEDDHHTIIEEL),

3-20 Z“_b
BREEHEDOARESZRHELIT,

1.ZOOM/L-CALIB. R v #E L T,
- UEDVTRIET DI5E1F ZOOM Ry V=B LET .
2.4/ PRI VEBULT, A—L%ERAET D,

JA-9



3'30 72'_7J1

BEBERDO D #—HAZGHEET,

c I A—NADRBZT DR, TAN Y —UZRET & ERHBOBIFICEDFT,

c D3 —HRE €I —T3—HREEADRENLD # —HAZXEICHAEL. BEZHE
TINSVADRVREICEDEE T,

T -Tx—HRA

R Al T/ 4 N -
BT #—HR (oo ) | ( mim\ | ELT7+—hH2R

DN - 154 L7 O N A G = - 2
_Ei+EE / \\ +Ea_

/ =~ \

/ o \

\
B0

]
|= |

\ /

\ /
]Iﬁll o+
exe ) ( e
N 2 X il

1. EV5—T+—HARZEEHDED

@ FOCUS K% V7=,

@ 4/ PREVEHRUT, EVI—T3—HAZEDLED,
T4 —NADEDIEVEER. T4 —NAUBDEINK AT U—VICEIL LI,
T4 —HREZRRFCIFRNETHHN L TLEE L,

2.BEAT #—hRZEEHED,
BEDBEM T # —HRA%ZahEdHaE. 4EmD [REMRIL N ZFERALET,
- T—IILPKRICREL TV DHBEIFHEBNIL FAOLE®ZE UHEDSRELE T,
RKBOTHRELCVDHEEIFHEABRIL FOLOZ ULHEDSHELE T,
REERE REMORE

CRHDSKICAITT, FEIFRDSXHFICAIFTHRE (EEAHMICKRE) I295%BG(E.
AERILE®, ®. ©. ODFTXTZUHENSHELFT,

JA-10



O FIECDFRERZ(ICINU T, FBEMNIL M (Ff2lFO) Z 1/4EEFDOLHD.
BEOABIORBL T  —HA7ZRFBELE I,

@HEWVT. FARRIL IO (Xfcld0) Z 1/4 BEEFDOULH D,
BEDOARIDENL D + — N A7ZHBELE T,

2%
-BEEADT 4 —AADESABNAEROTVDBAIF. T —HRADESAEN
2o U—=rh SEVAIDERERIL b S LHTLIZEL (ETFDH),
/7z—txﬁ$5ﬁ

AoU=>
- /
\7Z7U—)

TA—HAADESHE

RERIVZELDDE, T4 —AABEIEHRIU— EEDBEEBRIL MELLFD
T#—AADESEHT D[ SR EEIF. LoHeb. B2HrEb LT,
OY o5 —h5EEHh BRIV ZDDHET TA—HABEGIEHZRY

bEI, U=VICEDEFET,

3. EEORT #—HAREERYI—T+—HADINSZ VY RAZ2G5HE D,
FlE 1. 27Z#E0RUT. BEEEDT 4 —HRZRERFRECLTIEEL), .

// tUHI—TH—H R \\

 ampmn 7T (M 1~ ] \ﬁ
257 Pt P £l
e e+ R

| < S
| >

=) kil Ei )
EDQEN T +—HAAEE BOREE T #—H AR

JA-11



4. FRBRIV M ZEET B,
FIE 3 THABNIL MOMEDRE OcD, Dy v—DUYIATTvFAY MIHD
BEICST Y hLDHET,
ZTDXRIICUT, 4EFMORERNILNEU Y AT T v F A MBEELE T,

F v N2 ULHIF T2,

i

VYZATPEZYFAY

INT. HEEHOME. XEE, T+ —HADHABHEDDE U

8%
- JOYI Y=Ly bZERDOATHEIE. ROKDITHRELTIEE0,

1. LYXF vy TZBRD [T B,

2.4 EFRORAEMNIL FZERD 5T,

3. 709109 —DEFZATRBREICT B,

4. &4A0D SHIFT/HOME POSITION 'R5 V7= RIEBL (2B E) T,
LY ZBHR—LRIY 3 VICRDET,

5. BRZYID. BRIS I =21V b 5ik<,
LIS <FH T AN TRITHR e &2 LT IEE LY,

6. 70Y 175 —FFREDL VWO FIFBOTICHD ‘LYAUU—RRY "
ZRFITHLAHENS, LY XZEICET,

LY ZXAZw hONET,
[3]
alls 2\
T 0 °

LYZXYUU—ZRE V& UIABIED S

JA-12



R Ek APFi BS NP50ZL

4R

A% FALERSS (NPSOZL) BIAP Flt. BT KEMIRICH "FLEH" -
FFMERT R FRAA TR IEE IR AN 2R AR ERN (TAHR. &
SN S H2 R R R A T AR A ED ) o

AgsE

o BN, EWREREOBEAEDAMTERE. TRBERENREI RS EHEHE
ma HMABGE.

o TELREEFLEUN, ZSVERAELTEEFBEBRTERREN L. BN ESEE L
HEENMEASGE.

o EREBLIMUNELTEEGZG, BRARFIBRFAE THERLZL.

E

ol

K FReh AT B 5 S BR R G T

BRIBERARSREESRED

- RENMMTELBASER/EDBN, BOERENBRLBARE P EIT KA.

- FARHEEREIN LZRKEN, BOBIRIN. —EEMEREELEFo

e EEEZES, ARSI R SE kBl

o IFES L RTAEEZAT, BRURAREN, FESHNEEL, RAEERTERL.

- BAEHAE, FOMIRELRE. RE/SEDRGENESR.

- —EEIFEND, AEULRLIHMBRIFELRE. F2EIELERE.

- ATEBHELEAHEENNGE, BOESLNTERIE. BE—DKFELPITERE.

o HEAMARK—BENBANERZI LN, BERZI LR3PTIk B EYt
NEFHHAED

- BEABOHRTEERIN LN, REZHSBNNEBRRELE. GAHEBAERL L, 7]
RESTIRREM .

- BINELEMT G, SUBARELAERXS. SUEXATRESHRIR, BMERAHMNER ER
MR N NIEAR LT FRIE R TRE LR 2.

- RETHRAHEZETN.

CN-1



BR (L{ERE)

1.E£&TITE (RT—0)

1-1.REENNEE 2R
128 EE MR

1-3. & —i0 a8 22 TIRN—IR Bk L < fg g 22 7]
1-4.RAERENEL
2. %% (SFREEN-5T)
2-1.45 8k MR EREL BT E
2 N N ?- 2 X
SN |

22 ARBEAZ R HERRERINL

+< S Q

2-3. R B T RERRHN L

3.iA% (3% EN-9 1)

3-1.ELBAL
(REEGHLE)

3-3.31 &

s Ny, |

CN-2



1. E&TIE

1-1.EERENNE S AW

BB TSN THRENES.

AFMIERAE A NP-PA1004UL-W+ RN EZEET. o MES NP-PV80OUL-W+ &7
BEAE

NP-PA1004UL-W+ Z71 1| NP-PV8OOUL-W+ Z 7

1-2.48EE XY
@ FsLEH 11
EATEEN
@ BELEID
©OF:- S ik
@ ZHEREIAN
A
® 121 (M4 X 10) 104
® 121 (M4 X 30) 44
@ H24T (M3 X 6) 44
HEE4 A
O) 375
A48
SEMSH#2£T4 4~
@ Z#EF4
FBEC
@ 4247 (M4 X 20) 44
® #hIR4 4
BRI
TA
®FEF 118
@® BERBEH 6xH) 11
BT A: KEH
EBEC: & AT NP-PV8OOUL-W+ ZFIES

CN-3



1-3. & — B+ FRLTI—Bk LN RIRLT]
- HFKIBLT]. BRIEAMBLT] (3mm) |« HF (7mm)
- WFRERZEGHOME, BEEFRHRENIERIN . BLMENELTHES

EEENREZHR

1-4. B MR L

AR B EHRER TR BB B VIARE -

BT RATTE/ AREAE SR, ESRREN AP FM.

1. BRBELERERBH, KERO (BE) EFERE.

2. I2{£ZOOM/L-CALIBZ2F)$hal T < it 5]

3. @A BHERE, RESHIFT/HOME POSITIONE 2% sy B 1< it ja]

4. EBIBIRME, EHOMHERME, RERO (BR) @HAXAREIEE.
5. SRR MR BT

5%
BN EHRIERE (Ki%)

NP-PA1004UL-W+ %EIJ

1
@ @) @-— 3.SHIFT/HOME POSITION 4

(2
® - 0O

POSITION

— 2.ZOOM/L-CALIB.#Z$4

NP-PV800UL-W+ 751

(ueng) (_a ] Cex) _— 2.ZOOM/L-CALIB.#4H
CO@ ()
@D ()

(Gt )——— 3.SHIFT/HOME POSITION #%%1

=L-CALIB. =HOME
POSITION @

-

CN-4




2. B3
2-1. HEAMEREREL BT

1. BELAMGRREGLIE L.

WEFTR R R KM, 4 MBET LS5
SKERF RS T, REEHARIEE] (M3 x
6) 7%,

2-2. HEMIFTRAFERZERINL

1. BEERERRIELZLRE.

R RESHELE 6 MEETFLY S /E,
EH6H (M4x10) 121237%.

2. FEEE.
BV EERANMNEF L.

VAN:S

. BEERENE, BREZOBHFD A
1TRE. HEBRMENRZIAESS
HEHNEEREMASHE,

CN-5



33 NP-PV80OUL-W+ ZFIHAT L T HR1E.
* TR EN TR X LS R
@ FEAARFADAD
PREE AR B ELE R Z910mme.
@ TEBRR
BREBIRE EWmRNERY), RERERE L REVIRREE D .

3. BEAIRREIHRIIN L.
WMERTR, BB ARSI
BRI L, BANBRLA 5/ LR
W2 E 355, FHERADT (M4 x10) 121z
[B] E o

B RIMLEL 25 NP-PVSOOUL-W+ 275
RS —RERT, BT

@ REERRTENLR B A2 ET FLINED

@ KEhER_ERIFLXSE R EERET Lo

® M (4) Ft2E] (M4 x20) ElE.

CN-6



4, BHEEHMEIERA.

VAN

. BEBRENE, BREZOBFD A
T/, HERBMBEZVAIGESS
HEIBEREEMASRE.

2-3. HRL BT REERTNL

s BN TRETHENERELS. WREFRAEH
TR —ELTRERIIN L, AIRESSBUHE.

1. BRIBTRRERHIL iR
1. PASESAAR S EROTK 88 L E ER AR
7, KRB F
KB BB RN AL .

2. RS ENESL.
HEERIT RIS
FANAECLBEEERFI L.

CN-7



2. BEMEEEEELE.
HAFH 2B AME AL (M4 x
30) ZESLMIAERmEAIFL, MM \
BHEEEZESESE. 0\
H#EmA g .
FdiEF, ERAEERERRESL
MifEEL, F7ERRFNESLEZ 8
BET410 mmAagEkR.

BIf (£910=X)

2@ 8 s
AR FXZR
mEH

iE:

o ESLE FE8MNRETFL.
NP-PA1004UL-W+ Z& 511 G227, A
NP-PV800UL-W+ Z51E 12227 B

B25TFLA 125T7LB

MR T RAZEEGHNRE.
ZERBEYFERBREMAMBL. RENTIEAE, FERIVAAEETULIE.

Ak
<

CN-8



3.if%

BREXBA. TE W& WXERURAEMEGREFEESENFARENER
B, BSRABRINNRETFTN.

- ZPEFHDES, FEHN @) METERE, HE 2385k BTREIRIN L i
Z. (ZRT—00)

JEREL: S

3-1. 58 (BREEGEE)
BELyEEAONE. .
1. 1% SHIFT/HOME POSITION #:41. 1.
o BRTERSE ERYSHIFT 424,
2. 2 VA B &.
i
- ARERT RIFRENEREESLE, 1504
FuE R AR

3-2. T
BERY BENAN.
1. ¥ ZOOM/L-CALIB. 1z
. RTIEHREE i) ZOOM 4240 .
2. % O RARETE,

CN-9



3-3. 4%

FERYEGHNER.

- BRENHEERBEDTEEEA.

- XBPEFEFNDOMEL, BEHEDEGAR RITFTE,

BREHPLONES
REEDIE S ‘oo ) T Bm\ | REANMES
ol AR R \ :++ ‘/ pa e / \\\\\\\\
_ A+ A /. +E3
/ A \
-+ \
s i E: i
e )
\\ II
- Bpm
Bz e e
_EX+ER L) ( +EA_
Ll V4 un N N
1. AERLES.

1. #ZT FOCUS &%,
2. BT O mENEROEL.

WREGANE, FREAVERARERLRS, FRHEABHERNNERZE.

2. HEALES.

R (4) MEP R ERE L.

MRRFHMER FIIR L, BB BETIRE @ 1 @ #HIT &,

MREBEAERERLE, B ZEHIER O M OHITHE,

Mot A &

MERBEGNRERI HBIMRS R (EERE) | BEIIrEREETER .
®. OO #HITH £

CN-10



1. RIELERAREME, M 1/4BAERESNETERIE® (50) .
FERBLMNEBER.

2. BT, M1/4 BARREDATERE® (30) -
FERESANNELESR.

. MENETEAEARRERTE, EENALRESRERE N TER (£8)

P AESE
/*ﬁ%

@ 5T e \

MEETE

Yo Y e

?T%ﬂwié’iﬁ/\ﬁﬁ’@$ WRNETEBEER, Eﬁiﬁﬂ EMMFEEET

HETE a A&

¥~

LB R TR éﬁiﬂé, EXETE SRR
: L x5
3. FAARBESSTLES
EESR M2, BHEIRBANBELEA.
Fee BE
// i A S \\
CEE) e = w2

(2.2 B 5 e
) et i i)
M SEE AME S

CN-11



4, BRI,
—BEFR3IPETREHNUERE, FRESEIRERMELME.
XG0 (4) DT R4 B E 2R SK M o

rRaEH.

@ﬁ%ﬁﬁﬁc<\

EERTER THRZEGHLE. K/NFHEREE.
T

« BRANTERMAREZI P BRELETT.
1. ZRELRE
2 35 (4) ME iRk
.TARENAZTE R,
4, 32 N FH42 4 SHIFT/HOME POSITION #2482 #b 8 L o
FAMUERBZERL.
5. KM ERBITR, RIERIEERL.
SRR AR A A IE .
&%iﬁ?ﬁ%ﬂ%ﬁﬁiﬁ%%%ﬁﬁﬁﬁ%ﬁ%ﬁﬂ@ﬁ,ﬁﬁﬁﬁﬁ%ﬂﬁ%o
BB o

=

CN-12



FRTEEVEREREEE

BEYR
GG i X 8 A | BREEK | ZIRIRB
(Pb) (Hg) (Cd) (Cr (V1) (PBB) (PBDE)
FKFERHE *1 O O O O O O
LA SERME 2 O O O O O O
HER. SHER Mt O O O O O O

ARIERIESIT 11364 PMEHSo

O: FRRZBEVREZBERBHREMRIHRHEEHTE GB/IT 26572 MEMREERMU T
X: RTZBEVREDEZBENE—SRMRHHEEBHGBIT 26572 MIEHREEK.
&iE:

* o RFEHURIENFEE. BRIEE. REEES.

*2 . REBSIERIEBRER. NELY. BE%.

INRAE A HARR:
AARER S, SARIESUT 11364 (BFRES~SEEWRBHEFFHAER) | B/
FHEPEA\RLHE (BRAE. SEME1N) £ER#ONRTFRS=RE “TiRER
t-\ HAR”

109 curE BB EhiRgnE X A=RReMER L TEER, BREEMmEe. T
\-J MEEBEOERT, EMEFBFBI LAERN, FRROEENERSE SN
R EES RS MIRE SR RSN EEEA L. WS ERE.
FEEFRR REREEHNR. LERRFEFRSMERS. BHRLSEEMmMEREHE

ISR,

EREEL RS TR, SERRE LR TR SS B SE R R RS TR
I,

) HERS CHRRERER | FEERNERRINE. HERNES—Fa%N, =aHiE
B HOTRAR A F AR AT £E AR50

CN-13










NEC

MANUFACTURED

; Printed in China
: © Sharp NEC Display Solutions, Ltd. 2021 - 2025
7N8R1173



